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Draw items needed for noa.

It is customary to collect money for poor
people, so that they can buy items needed
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was the day that many mir-
acles happened to the 17R.

The 17% tied a lamb to their bedpost that was to
be used for o3 1277.
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This is how NXn NINY is made
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What is ynn?

Flour + Water

together for more than 18 minutes.

On noYy, ynn is forbidden.

We may not EAT

We may not SEE

We may not OWN
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The night before N9, we search our house for ynn.
This is called

We hide pieces of bread.

Before we start to search, we say the n37a:

DIV 129 IWPOR ‘N NpR P2
RN IV HY MINY YHRINN NYTH YR

What do we use for ynn np»12?

After the np>72 we say:
MNP RYTY PIPAN RZT MIYI2 RIRT RYHM RYAN 92
RYIT RI9PD 19N 1021 7037 102 RIYT) RYT
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Any ynn a T8 owns, must be sold to a ».
The 17 is our N'HVY to sell our pnn.

We lock up all our ynn, and do not use it until
after noa. We must wait until the 27 buys the
ynn back from the »).
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Nno9 17y, in the morning, we burn the :
We say :
This is called :

We prepare the items that we will need for the 770.
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NN 1012 YR NP

noa YWY 1INR and NOY HY Y2y
we do not say 2NNVY.
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At the 7709, we drink four cups of wine to
remember the four expressions that ‘n used
when promising to take the 17X out of D»¥n.
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We use three nixn; they are called:

Why do we have these six foods on our n7yp?
To remember...

1297 - »I
13717 - ¥
life in ©%N - 9970

which the 77°® made - noIN
of the 17X - ©973

lives of the 7R - NN

0K IO 0K 3 303 0K 0K 50K XX X 30 50K 30K XK 50K 3 3 50K 50K 50K 50K 3 X 50K 50K 30K 50K 50X 3 50K 50K 50K 50K 30X 3 50 50K 50K 00K < 3 50 50 0K 00K < 3 5 33 0K 50K 50K 5 5 33 0K 50K 50K 3K 3¢ 33 50 0K 50K X 3 33 50K 0K 50K 50X 3 3 50K 50K 50K 50X < <>
ORI IOK 5 303 50K 0K 50K 00K 3 3 50K 30K XK 50K 3 3K 50K 50K 00K 00K 3 3K 50K 50K 30K 50K 50X 3 50K 50K 50K 00K 0 3 50 50K 50K 0K 0 3 5 53 0K 00K 0 3 5 53 0K 50K 0K 3 5 30 50K 0K 50K 3 3 30 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 30K 50K 5K <

LOLO OO OO O L0 00 00 00 0000020000000 000000300030 00 0000050000500 5050 v e



?00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000

<

R

’n¥7_3 'N’Xﬁn )ngtnf , 1730 1?02 ,UQ-\? ,VU'” ,V)Tl-_)
N3N 220,713,198, T 107V, 719,79

VT2

When the father comes home from ,
we say W7 right away.

D?WU 1'773 1J’|7'7N N NIR P
1930 719 RYI2

We then drink the first cup of wine or
grape juice.
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We wash our but we do not say the
, DY) 12703 D,
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027

We take a piece of an or a potato,

and we dip it into
While saying the n273, we also have the
7371 in mind.
We say the n2712:

DIV 727 1POR ‘D NRR P2
JNTRN M9 RII2
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R

o5035085050¢56050850350850250¢56050850350850050450850850350850050¢50350850050500504503508500 5050050450505 505005045050 503500500505005050250¢500508500508500504508508508S

<



0K 20K 20K 20K 20K 30 20K X 2K K 3K 2 30X XK 30X 50K 50 50K 30 20K 30 50K 0 50K 0K 50 20 3 5 3 00K 3 2K 0 x5 0 50X 50K 30K 50K 50 20K 30 50K 30 50K 0 50K 00K 50 2 3 2K 3 00K 3 pX 3K 20K 30X 00K 30 20K 50 50K 50 50K 30 50K 0 50K K 50K 00K b )X >

ORI 50K 23K 30K 2K p0 XK 30 XK 0K 2K K MK K 30K XK 30 20K 3 20K X XK 0 20K 0 50K 00 50K 0K 30 XK 30 00K 30K 20K 30X 2K K 30K 0K 30 20K 3 XK 3 XK 0 20K 0 50K 0 50X 0 3 >
RO 20K 0K 0 30 2 20K 20K K 30 p XK 20K K 30K p XX )< K 30K 2 SO 90K 2K < 30X p S 90K XK < 30K 2 30 00K XK 0K 0K p 50 00 XK 50K 0K 0 30 2 20K 50K K 0 S0 <

RO 0000 000 0000 0000000005000 0000000000000 00000000 0000500000000 0000000000000 000 e



RO SO RSN 00N05005000 0000000000000 0000010100000 050 0500050000050 0000000000000 0000 v e e

N¥N -RVIN ,NYNT T P02 0912 ,Y0N UTP
N3N 220,713,198 T 107V, 719,79

| Ak

We break the middle into two pieces.

We put away the bigger piece for the :

0K IO 0K 3 303 0K 0K 50K XX X 30 50K 30K XK 50K 3 3 50K 50K 50K 50K 3 X 50K 50K 30K 50K 50X 3 50K 50K 50K 50K 30X 3 50 50K 50K 00K < 3 50 50 0K 00K < 3 5 33 0K 50K 50K 5 5 33 0K 50K 50K 3K 3¢ 33 50 0K 50K X 3 33 50K 0K 50K 50X 3 3 50K 50K 50K 50X < <>
ORI 0K 5 303 50K 0K 50K XX X 30 50K 30K XK XK 3 3K 50K 50K 50K 50K 30 X 50K 50K 30K 50K 30X 3 50K 50K 50K 00K 30 3 50 50K 50K 00K 0 3 50 50 0K 00K < 3 5 33 0K 50K 50K 3 5 33 50K 50K 50K 5K 3¢ 33 50K 0K 50K X 3 33 50K 30K 50K 5K 3 3o 50K 50K 50K 50X <o >

LOLO OO OO O L0 00 00 00 0000020000000 000000300030 00 0000050000500 5050 v e
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9 RO SO RSN 00N05005000 0000000000000 0000010100000 050 0500050000050 0000000000000 0000 v e e 9

N¥D -ROXID NN ,TA0 PN 09D Y0 TP
N3N 220,713,198 T 107V, 719,790

TN

We start reading the

POIT 95 * DIYNT RYIRI RINDIR 1998 7T RQY RHNT R

NRID MY * RID ROYD * NDAY N7 PIXT 95 * 2177
PN 13 NRID MY 1TIY RPYD = ORIPTT XYY

This is the N¥N we ate in D¥N:

We fill up the second cup.

0K 0K K 0K 50K 20K 30K 0K 30 MK 300 K 3o 0K 3o 50K 6 50 0K 50 XK 30 XK 3 5K 30 5K 0 50K 0K 50K 0K 3 0K 3o 30K 3o S 3o 50K 5o 5 0 50 2K 50 00K 5 XK 3 5K < 50K 0 50K 0K 5K 0K 3 S 5 K 3o 50K 3o 50k 0 50 0K 50 20K 5 dK 3 K 0 K>

R R

LOLO OO OO O L0 00 00 00 0000020000000 000000300030 00 0000050000500 5050 v e

ORI 0K 5 33 50K 0K 50K XK 3 3 50K 30K 50K 50K 3 3K 50K 50K 30K 00K 3 3K 50K 50K 30K 50K 30 3 50K 50K 50K 00K 0 3 50 50K 50K 00K 0 3 5 50 0K 50K 0 3 5 53 0K 0K 50K 5 3 30 50 0K 50K 3 3¢ 300 50K 0K 50K 50X 3 33 50K 0K 50K 00X 3 3o 50K 30K 50K X <
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TN

NPVP A PYIS T R OYN PR YORY

VIR T WIYTIR PR ORN -NMYH0 Yan N1 No0 MnY) Nn
798 PIRI R 11O VO POR 19 NI N9

IPAR 122010 NR PR NIPHD 522V (PR ROVP YOV 1T R

IR PIRI R 119 VIV YIR -DNY NY NI ﬁ‘a"m NNR DY

NS A VIR M7 IWIAR HRN IR IDAR R V1 PN PPND

IYORN PORT PR D7D RN IR IHRND MMIN PR PN PRIV
DI PR 9199 O8N JOINN T PR

NN IR PAN PR NR NIDHN 52V (DR ROVP YOYNIR T 2
PN N JOY IR? PIRI R 1A VIVI YHR -N¥N 1‘73 NI NYon
1NN IRI PN JOY NDY 1O VIRI T IR N¥N IR

K 0 2K 0 XK 0K 50K 0K 50K 0K 3 K 300 0K 3 0K 35 50K 6 50 0K 50 XK 50 dK o dK 0 5K 0 50K 0K 50K 0K 3 K 5 K 3o K 3o 50K 3 5 0 50 0K 50 XK 5 dK 30 5K < 50K 0 50K 0K 3 K 3 K 3 30K 3o 50K 5o 50K 0 50 0K 50 50K 5 pK 3 K 0 XK >
X KK KKK KKK KKK KKK K KKK 0K K XK KKK KK XK O K K K oK ok oK ok ok ok, X ok, K xok, ok ok, ok ok ok ok, oK ko< k. oK koK koK KK KK oK ok ok

0d5035085005045035085035050050¢50350850050<5005045035050350¢50050450050850250¢50850850508500504503508505050050450350850 50500504 5035085050¢5005050050850050450850850350500



00000 0 e e O O S e O e O O O S e S S e O e e O 0 O 0 0 0 O O Y 0 P O O P O P 00 0 e

1

NP7 IRY PHIIR IR NIHYN 52V (DR RIVP YOIIT T )
S9PIR N JOY IR PIRI R 19 VIPI YOR 9390 NI NPIPN
.JO17) YIPVI2 N JOY NDA N9 VIRI 7T IPIAR 017

123 P2YP P2 PHIIR IR MIYIYD DAY (DR RIVP YOIYA IT T
JOY IR? PIRI R 119 0IPI YOR -1720N0 192 NN -1‘7"7-1 Paon
VIR T IPAR VPINVIYOYIIR PO IR VPAIYPITIYRIT 1D N

JOYN7I0IPHYIIR YOR N JOY NDA N

PR 23 PV VIY? NPVP P9 VIPIAYI T R2 ARN TR PORV
PIVN R

K 0 2K 0 XK 0K 50K 0K 50K 0K 3 K 300 0K 3 0K 35 50K 6 50 0K 50 XK 50 dK o dK 0 5K 0 50K 0K 50K 0K 3 K 5 K 3o K 3o 50K 3 5 0 50 0K 50 XK 5 dK 30 5K < 50K 0 50K 0K 3 K 3 K 3 30K 3o 50K 5o 50K 0 50 0K 50 50K 5 pK 3 K 0 XK >
X KK KKK KKK KKK KKK K KKK 0K K XK KKK KK XK O K K K oK ok oK ok ok ok, X ok, K xok, ok ok, ok ok ok ok, oK ko< k. oK koK koK KK KK oK ok ok

0d5035085005045035085035050050¢50350850050<5005045035050350¢50050450050850250¢50850850508500504503508505050050450350850 50500504 5035085050¢5005050050850050450850850350500
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nPIM T2 DYUN

NaYn 11 "N

TT —-

0] PIN)

T

T

)

*

N ORI DI¥N2 NPIY N7
DI¥N NRYY’2 9907 N3N0 7I)
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The answer to the four questions

NHOR

QALK 0K XK 30 XK 3 XK 3 XK 0 MK 0 SOK 0K 50K 0 30K XK p0 XK 30 00K 30K 2K 30K 2K X 30K K 50K XK 3 50K 3 XK 0 2K 0 20K 20 50K 00K 30K 0K 30 XK 30 00K 30 00K 0K 2K X X >
[ ]

OS2 0K 0 30 2 20K 20K 0K 30 p H0X 20K 2K < 30K p HOX 90K 2K < 30K p XX 00K XK 0K 330K p0 30 00 XK 0K 0K 0 50 90 20K 50K K 0 30K 20 XK 20K 0K 30K p HOK 90K 2K < p0K

&

$50d508505085005085050850 08 50050850505080d50d5085050050850d50d505005050050¢50850850 5050050450508 5050050450850 5050505085050 0850505085050 8050505050505 508505050050¢ 5050850505005 50850500
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0711 YR

0Y? AN 1Y N2 RIN 2 DIPRD 2
17IR 1727 D)2 NY2IR T RIN I3 HRIY?
YTV WRY INR) DR TR PP TNR) DIN TOY
2IRYY

Q: Whom should we tell about npg?
A: We should tell all four sons...

IO AOK X 3K 50K 0K 50K XK X 3 50K 30K 50K 50K 3 3 50K 50K 50K 50K 30 3 50K 50K 30K 5K X 3 50K 50K 50K 00K < 3 50 50K 20K 00K < 3 50 56 0K 00K 0 3 5 30 0K 00K 50K X 5 3¢5 0K 0K 0K X 3¢ 3o 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 50K 5K 5K <<
IO AOK X 3K 50K 0K 50K XK X 3 50K 30K 50K 50K 3 3 50K 50K 50K 50K 30 3 50K 50K 30K 5K X 3 50K 50K 50K 00K < 3 50 50K 20K 00K < 3 50 56 0K 00K 0 3 5 30 0K 00K 50K X 5 3¢5 0K 0K 0K X 3¢ 3o 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 50K 5K 5K <<

R

o5035085050¢56050850350850250¢56050850350850050450850850350850050¢50350850050500504503508500 5050050450505 505005045050 503500500505005050250¢500508500508500504508508508S
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R

N IPDIAR?  ATHYY RN
WYY TRy 7272 TNR ROY
™7 MT H22Y RHR 1NiIYIY
VITRD I°NIYI7 1YY DITRIY
DTN 198N RIN P2

vt SR B g =V PRI 1A
L0 N1 NTIaY

. TIRIIZN 1T

NI PN
..D7¥NN

-T2 PYIN

IO AOK X 3K 50K 0K 50K XK X 3 50K 30K 50K 50K 3 3 50K 50K 50K 50K 30 3 50K 50K 30K 5K X 3 50K 50K 50K 00K < 3 50 50K 20K 00K < 3 50 56 0K 00K 0 3 5 30 0K 00K 50K X 5 3¢5 0K 0K 0K X 3¢ 3o 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 50K 5K 5K <<
IO AOK X 3K 50K 0K 50K XK X 3 50K 30K 50K 50K 3 3 50K 50K 50K 50K 30 3 50K 50K 30K 5K X 3 50K 50K 50K 00K < 3 50 50K 20K 00K < 3 50 56 0K 00K 0 3 5 30 0K 00K 50K X 5 3¢5 0K 0K 0K X 3¢ 3o 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 50K 5K 5K <<

R

0d50350850050450350850350850050450350850050<50050450350850350¢50050850050850050¢56850850350500504503508500505005045035085050¢500504500505050050050850050850050¢508508500500
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D?j;m::l D’j:j)_:U ‘71} RIN ?m; \’)"WQU N’;m{j mm_: "l\’)v a‘:zg
:10 IOR)

PNV 92T 1217 D212 PTI0X DT
N317332 NN YN *N2INR 772
:D°IND DA 1N 72D NTIN? 127

2RI WY 7Y

0K IO 0K 3 303 0K 0K 50K XX X 30 50K 30K XK 50K 3 3 50K 50K 50K 50K 3 X 50K 50K 30K 50K 50X 3 50K 50K 50K 50K 30X 3 50 50K 50K 00K < 3 50 50 0K 00K < 3 5 33 0K 50K 50K 5 5 33 0K 50K 50K 3K 3¢ 33 50 0K 50K X 3 33 50K 0K 50K 50X 3 3 50K 50K 50K 50X < <>
ORI IOK 5 303 50K 0K 50K 00K 3 3 50K 30K XK 50K 3 3K 50K 50K 00K 00K 3 3K 50K 50K 30K 50K 50X 3 50K 50K 50K 00K 0 3 50 50K 50K 0K 0 3 5 53 0K 00K 0 3 5 53 0K 50K 0K 3 5 30 50K 0K 50K 3 3 30 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 30K 50K 5K <

LOLO OO OO O L0 00 00 00 0000020000000 000000300030 00 0000050000500 5050 v e
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:399Y DIPNRY N2 MYYN NN

hla DVAY DDA NYY KDY DIRNN NIRININ IR
307 DIPHYRA NYY KDY DVAY DN NYY YR

N292M N2197 NIV NN NN NOR 7Y
DIXAN ARRINY 17Y DIPN?Y

IO AOK X 3K 50K 0K 50K XK X 3 50K 30K 50K 50K 3 3 50K 50K 50K 50K 30 3 50K 50K 30K 5K X 3 50K 50K 50K 00K < 3 50 50K 20K 00K < 3 50 56 0K 00K 0 3 5 30 0K 00K 50K X 5 3¢5 0K 0K 0K X 3¢ 3o 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 50K 5K 5K <<
IO AOK X 3K 50K 0K 50K XK X 3 50K 30K 50K 50K 3 3 50K 50K 50K 50K 30 3 50K 50K 30K 5K X 3 50K 50K 50K 00K < 3 50 50K 20K 00K < 3 50 56 0K 00K 0 3 5 30 0K 00K 50K X 5 3¢5 0K 0K 0K X 3¢ 3o 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 50K 5K 5K <<

R
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NnNIXN YHY

D127 NYOY IR ROY 92 IR 177 KRNI 127
:10 I9R) IN2IN O RY RY NDA YR
S99 NN - NDY

The three n¥n are:

J
]
D]

M0

D.DYRN RY RIN IR INYY DR NIRTY DR 10 W7 N7 Y92

IO AOK X 3K 50K 0K 50K XK X 3 50K 30K 50K 50K 3 3 50K 50K 50K 50K 30 3 50K 50K 30K 5K X 3 50K 50K 50K 00K < 3 50 50K 20K 00K < 3 50 56 0K 00K 0 3 5 30 0K 00K 50K X 5 3¢5 0K 0K 0K X 3¢ 3o 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 50K 5K 5K <<
IO AOK X 3K 50K 0K 50K XK X 3 50K 30K 50K 50K 3 3 50K 50K 50K 50K 30 3 50K 50K 30K 5K X 3 50K 50K 50K 00K < 3 50 50K 20K 00K < 3 50 56 0K 00K 0 3 5 30 0K 00K 50K X 5 3¢5 0K 0K 0K X 3¢ 3o 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 50K 5K 5K <<

R

o5035085050¢56050850350850250¢56050850350850050450850850350850050¢50350850050500504503508500 5050050450505 505005045050 503500500505005050250¢500508500508500504508508508S
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<

R

ORI 0K 5 33 50K 0K 50K XK 3 3 50K 30K 50K 50K 3 3K 50K 50K 30K 00K 3 3K 50K 50K 30K 50K 30 3 50K 50K 50K 00K 0 3 50 50K 50K 00K 0 3 5 50 0K 50K 0 3 5 53 0K 0K 50K 5 3 30 50 0K 50K 3 3¢ 300 50K 0K 50K 50X 3 33 50K 0K 50K 00X 3 3o 50K 30K 50K X <

9 RO SO RSN 00N05005000 0000000000000 0000010100000 050 0500050000050 0000000000000 0000 v e e 9

IR9Y NAY? 7207 MITIND DN 1NN 7297
NYYY *n7 “02RPI N2Y? TII7 1107 DAY
NRININ ADRD DDIN DI NR 119 1NIARY

250 D17 2IRM .ANNYY 120 NMINY MTIYN
1197 IR .NPRIZ TIVIYM 51T) TIRD NYARM
21990

TV HYN 7120 N DY 2N DY DR 1990 N 072y 1090 590
N D 53 5y 07 N DY 5700 IRIAN TY WRY nrnn 0y
2799070 :NIY? 7172300 NFOR ‘NI N 37122 DMYD HY
IR D NAYRN 97 79YN RN PIRDY DY NIRTYY

DR 720 NRY "1YIN 1Ny 273 0Y DT DY 21YINY
:MY%0 NNNY 073N

DYYN 2N 1HOR ‘N DR P12
J9I0 M9 RN

We drink the second cup while reclining.

LOLO OO OO O L0 00 00 00 0000020000000 000000300030 00 0000050000500 5050 v e

0K 0K K 0K 50K 20K 30K 0K 30 MK 300 K 3o 0K 3o 50K 6 50 0K 50 XK 30 XK 3 5K 30 5K 0 50K 0K 50K 0K 3 0K 3o 30K 3o S 3o 50K 5o 5 0 50 2K 50 00K 5 XK 3 5K < 50K 0 50K 0K 5K 0K 3 S 5 K 3o 50K 3o 50k 0 50 0K 50 20K 5 dK 3 K 0 K>

R
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N3N 220,713,198 T 107V, 719,79

N3

We wash our hands and say the n37a:

NNN-RININ

We say the nJ7a:
PIRD 10 DNY ROXIND DY 720 WFOR ‘N PR P2

We then say the n272:

DIV TN IVHOR ‘N NRR P2
XN NPIR 5 MNY YRINND NYTH YR

IO AOK X 3K 50K 0K 50K XK X 3 50K 30K 50K 50K 3 3 50K 50K 50K 50K 30 3 50K 50K 30K 5K X 3 50K 50K 50K 00K < 3 50 50K 20K 00K < 3 50 56 0K 00K 0 3 5 30 0K 00K 50K X 5 3¢5 0K 0K 0K X 3¢ 3o 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 50K 5K 5K <<
IO AOK X 3K 50K 0K 50K XK X 3 50K 30K 50K 50K 3 3 50K 50K 50K 50K 30 3 50K 50K 30K 5K X 3 50K 50K 50K 00K < 3 50 50K 20K 00K < 3 50 56 0K 00K 0 3 5 30 0K 00K 50K X 5 3¢5 0K 0K 0K X 3¢ 3o 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 50K 5K 5K <<

R

0d50350850050450350850350850050450350850050<50050450350850350¢50050850050850050¢56850850350500504503508500505005045035085050¢500504500505050050050850050850050¢508508500500
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;NN -RONIN NXNT TN ,PM? 0972 PN, UTR
n¥7,990,712,199% 7Y INYY L7799 ,950

T
We take a n’1d of , and dip it into
. We say the n37a:

D2IYN 770 IPOR ‘D NNR P2
MR PYNIXND NYVTR TUR
9 NYIR DY

0K IO 0K 3 303 0K 0K 50K XX X 30 50K 30K XK 50K 3 3 50K 50K 50K 50K 3 X 50K 50K 30K 50K 50X 3 50K 50K 50K 50K 30X 3 50 50K 50K 00K < 3 50 50 0K 00K < 3 5 33 0K 50K 50K 5 5 33 0K 50K 50K 3K 3¢ 33 50 0K 50K X 3 33 50K 0K 50K 50X 3 3 50K 50K 50K 50X < <>
ORI 0K 5 303 50K 0K 50K XX X 30 50K 30K XK XK 3 3K 50K 50K 50K 50K 30 X 50K 50K 30K 50K 30X 3 50K 50K 50K 00K 30 3 50 50K 50K 00K 0 3 50 50 0K 00K < 3 5 33 0K 50K 50K 3 5 33 50K 50K 50K 5K 3¢ 33 50K 0K 50K X 3 33 50K 30K 50K 5K 3 3o 50K 50K 50K 50X <o >

LOLO OO OO O L0 00 00 00 0000020000000 000000300030 00 0000050000500 5050 v e
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;NN -RONIN NXNT TN ,PM? 0972 PN, UTR
n¥7,990,712,199% 77V NYY L7199 ,790

T2

We take a n’12 of and dip into

We put the 73791 between two pieces of )

Then say...

772 D DR WD YWTRND NXaY 1012 YHn Ny 12
NIXN HY IMRIY NI TN HIIRY 79701 NXN NDI
ANYIRED DM

IO AOK X 3K 50K 0K 50K XK X 3 50K 30K 50K 50K 3 3 50K 50K 50K 50K 30 3 50K 50K 30K 5K X 3 50K 50K 50K 00K < 3 50 50K 20K 00K < 3 50 56 0K 00K 0 3 5 30 0K 00K 50K X 5 3¢5 0K 0K 0K X 3¢ 3o 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 50K 5K 5K <<
IO AOK X 3K 50K 0K 50K XK X 3 50K 30K 50K 50K 3 3 50K 50K 50K 50K 30 3 50K 50K 30K 5K X 3 50K 50K 50K 00K < 3 50 50K 20K 00K < 3 50 56 0K 00K 0 3 5 30 0K 00K 50K X 5 3¢5 0K 0K 0K X 3¢ 3o 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 50K 5K 5K <<

R

o5035085050¢56050850350850250¢56050850350850050450850850350850050¢50350850050500504503508500 5050050450505 505005045050 503500500505005050250¢500508500508500504508508508S
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XN -RRIND [ NYNT TN P2 0872 ,PNM WP
nY L5990 ,772,09% , 7Y INYY L7799 ,991

TV NHY

We eat the 2j0 Dy :

0K IO 0K 3 303 0K 0K 50K XX X 30 50K 30K XK 50K 3 3 50K 50K 50K 50K 3 X 50K 50K 30K 50K 50X 3 50K 50K 50K 50K 30X 3 50 50K 50K 00K < 3 50 50 0K 00K < 3 5 33 0K 50K 50K 5 5 33 0K 50K 50K 3K 3¢ 33 50 0K 50K X 3 33 50K 0K 50K 50X 3 3 50K 50K 50K 50X < <>
ORI IOK 5 303 50K 0K 50K 00K 3 3 50K 30K XK 50K 3 3K 50K 50K 00K 00K 3 3K 50K 50K 30K 50K 50X 3 50K 50K 50K 00K 0 3 50 50K 50K 0K 0 3 5 53 0K 00K 0 3 5 53 0K 50K 0K 3 5 30 50K 0K 50K 3 3 30 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 30K 50K 5K <

LOLO OO OO O L0 00 00 00 0000020000000 000000300030 00 0000050000500 5050 v e



?00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000?

’n¥7_3 'N,X.’n ’n¥U-1 , 1721 ,\’UZ ’ng? ,YU'” )w.rl?
N¥7I,9970,713,199% 7Y NYY L7199 ,79I0

10N

We eat the while reclining.

IO AOK X 3K 50K 0K 50K XK X 3 50K 30K 50K 50K 3 3 50K 50K 50K 50K 30 3 50K 50K 30K 5K X 3 50K 50K 50K 00K < 3 50 50K 20K 00K < 3 50 56 0K 00K 0 3 5 30 0K 00K 50K X 5 3¢5 0K 0K 0K X 3¢ 3o 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 50K 5K 5K <<
IO AOK X 3K 50K 0K 50K XK X 3 50K 30K 50K 50K 3 3 50K 50K 50K 50K 30 3 50K 50K 30K 5K X 3 50K 50K 50K 00K < 3 50 50K 20K 00K < 3 50 56 0K 00K 0 3 5 30 0K 00K 50K X 5 3¢5 0K 0K 0K X 3¢ 3o 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 50K 5K 5K <<

R R

LOLO OO OO O L0 00 00 00 0000020000000 000000300030 00 0000050000500 5050 v e
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N¥N 720,713,109 TV INPY 710,30

Epk!

We fill the third cup of wine and say 13m0 na1a.
At that time, we also fill 398 Y 0.

After 13110 n372, we drink the third cup.

DIYN 2N IFOR ‘N DR P12
J9I0 M9 RN

We then fill the fourth cup.

IO AOK X 3K 50K 0K 50K XK X 3 50K 30K 50K 50K 3 3 50K 50K 50K 50K 30 3 50K 50K 30K 5K X 3 50K 50K 50K 00K < 3 50 50K 20K 00K < 3 50 56 0K 00K 0 3 5 30 0K 00K 50K X 5 3¢5 0K 0K 0K X 3¢ 3o 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 50K 5K 5K <<
IO AOK X 3K 50K 0K 50K XK X 3 50K 30K 50K 50K 3 3 50K 50K 50K 50K 30 3 50K 50K 30K 5K X 3 50K 50K 50K 00K < 3 50 50K 20K 00K < 3 50 56 0K 00K 0 3 5 30 0K 00K 50K X 5 3¢5 0K 0K 0K X 3¢ 3o 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 50K 5K 5K <<
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NN TaY

We take a candle, (except for nav)
open the door, and say:

NI2901 YYY PYT KY TWR DN YR 00N v

1M DR IPY? NR 7IR 3 :IRIP KD oYU YR

TN :DPY? GOR 1IN TRVT DY JAY 1INYN
N NY NNDN D7TRYN) aR2

Yy
¢ Z¢

_ ~_

R R

LOLO OO OO O L0 00 00 00 0000020000000 000000300030 00 0000050000500 5050 v e

IO AOK X 3K 50K 0K 50K XK X 3 50K 30K 50K 50K 3 3 50K 50K 50K 50K 30 3 50K 50K 30K 5K X 3 50K 50K 50K 00K < 3 50 50K 20K 00K < 3 50 56 0K 00K 0 3 5 30 0K 00K 50K X 5 3¢5 0K 0K 0K X 3¢ 3o 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 50K 5K 5K <<
<O K 2 20K 0K 0K 50K XK X 3 50K 30K 00K 00K 3 3K 50K 50K 00K 50K 0 3 50K 50K 30K 50K 50 3 50K 50K 50K 50K 0 3 50 50K 50K 50K < 3 50 50 0K 50K < 3 5 33 0K 00K 50K 3 5 300 50K 0K 50K 5 5 3o 0K 50K 50K 50X 3 33 50K 0K 50K 50X 3 3o 50K 50K 50K 5K o K>
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;NN -RONIN NXNT TN ,PM? 0972 PN, UTR
n¥7,990 ,772,10% L7V 1NYY L7739 ,791

)20

We say

92) 72 :DNIRD 93 1IMNAY D3 D2 N DR 1OHN
"1‘7‘7'1 n‘:w‘: N NNRY ITON 129y

:y701 DYIYH D 230 3 'NY 11N
70N DYIYY D bmw R1 NS
:y7ON DI D IR 072 R) 1NN
11700 D9IYY 12 NORY RI IR

J9IN 12 X792 0YIVD PN IWHFOR ‘D AnR P2

We drink the fourth cup while reclining, then
say a MMy NIIa:
1930 712 V11930 7Y

0K IO 0K 3 303 0K 0K 50K XX X 30 50K 30K XK 50K 3 3 50K 50K 50K 50K 3 X 50K 50K 30K 50K 50X 3 50K 50K 50K 50K 30X 3 50 50K 50K 00K < 3 50 50 0K 00K < 3 5 33 0K 50K 50K 5 5 33 0K 50K 50K 3K 3¢ 33 50 0K 50K X 3 33 50K 0K 50K 50X 3 3 50K 50K 50K 50X < <>
ORI 0K 5 303 50K 0K 50K XX X 30 50K 30K XK XK 3 3K 50K 50K 50K 50K 30 X 50K 50K 30K 50K 30X 3 50K 50K 50K 00K 30 3 50 50K 50K 00K 0 3 50 50 0K 00K < 3 5 33 0K 50K 50K 3 5 33 50K 50K 50K 5K 3¢ 33 50K 0K 50K X 3 33 50K 30K 50K 5K 3 3o 50K 50K 50K 50X <o >
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N¥D -ROXIN,NYNT ,TI0 P2 0972 ,P0 VTR
YN ,720 3 ,19Y ,TNY INPY T2,

Ny

IAAAAMAMBMAI

LTI 22z S s T

N2T 7Y
| @?WWE

LOLO OO OO O L0 00 00 00 0000020000000 000000300030 00 0000050000500 5050 v e

0K IO 0K 3 303 0K 0K 50K XX X 30 50K 30K XK 50K 3 3 50K 50K 50K 50K 3 X 50K 50K 30K 50K 50X 3 50K 50K 50K 50K 30X 3 50 50K 50K 00K < 3 50 50 0K 00K < 3 5 33 0K 50K 50K 5 5 33 0K 50K 50K 3K 3¢ 33 50 0K 50K X 3 33 50K 0K 50K 50X 3 3 50K 50K 50K 50X < <>
ORI 20K 5 33K 50K 0K 50K XK 3 3 50K 0K 50K 50X 3 3 50K 50K 50K 00K X 3 50K 50K 50K 50K 3 3 50K 50K 50K 0K < 3 50K 50K 50K 50K 50 3 50 50K 50K 50K < 3 50 50K 50K 50K 0 3 50 50 0K 50K 30X 3 50 50 0K 50K < 3 5 50 0K 00K 50X 3 3 3o 0K 50K 50K X < ¢
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We pour the wine from 398 Y 013 back
into the bottle, and sing:
”ﬂ]jtg ’bpﬂ

The first night of nog is called “D»IY 7H”-
‘n watches over the 17'®. We say only the first
chapter of ynv.

0K IO 0K 3 303 0K 0K 50K XX X 30 50K 30K XK 50K 3 3 50K 50K 50K 50K 3 X 50K 50K 30K 50K 50X 3 50K 50K 50K 50K 30X 3 50 50K 50K 00K < 3 50 50 0K 00K < 3 5 33 0K 50K 50K 5 5 33 0K 50K 50K 3K 3¢ 33 50 0K 50K X 3 33 50K 0K 50K 50X 3 3 50K 50K 50K 50X < <>
ORI IOK 5 303 50K 0K 50K 00K 3 3 50K 30K XK 50K 3 3K 50K 50K 00K 00K 3 3K 50K 50K 30K 50K 50X 3 50K 50K 50K 00K 0 3 50 50K 50K 0K 0 3 5 53 0K 00K 0 3 5 53 0K 50K 0K 3 5 30 50K 0K 50K 3 3 30 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 30K 50K 5K <

LOLO OO OO O L0 00 00 00 0000020000000 000000300030 00 0000050000500 5050 v e
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INIYN NPV

On the second night of Noa we start counting
n790 for____ days- weeks until niy1av.

NYTR TYR DIIYD 720 IWHOR ‘N NRR P2
ARIVD NIV DY MN) PRIYNI
INIYY TNR DY DI
nRIpNY YIpnn n°'a n1iay 1 1m? RN jnunan
170 198 12 NINRA

IO AOK X 3K 50K 0K 50K XK X 3 50K 30K 50K 50K 3 3 50K 50K 50K 50K 30 3 50K 50K 30K 5K X 3 50K 50K 50K 00K < 3 50 50K 20K 00K < 3 50 56 0K 00K 0 3 5 30 0K 00K 50K X 5 3¢5 0K 0K 0K X 3¢ 3o 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 50K 5K 5K <<
IO AOK X 3K 50K 0K 50K XK X 3 50K 30K 50K 50K 3 3 50K 50K 50K 50K 30 3 50K 50K 30K 5K X 3 50K 50K 50K 00K < 3 50 50K 20K 00K < 3 50 56 0K 00K 0 3 5 30 0K 00K 50K X 5 3¢5 0K 0K 0K X 3¢ 3o 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 50K 5K 5K <<

R
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noa YV "Y1V

PO D2 Y1y

The night of Noa ¥ »»»1Y is the night of
70 O’ NY*Ip. The men are up all night
learning N7iM and 1»21729R9.

IO AOK X 3K 50K 0K 50K XK X 3 50K 30K 50K 50K 3 3 50K 50K 50K 50K 30 3 50K 50K 30K 5K X 3 50K 50K 50K 00K < 3 50 50K 20K 00K < 3 50 56 0K 00K 0 3 5 30 0K 00K 50K X 5 3¢5 0K 0K 0K X 3¢ 3o 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 50K 5K 5K <<
<O K 2 20K 0K 0K 50K XK X 3 50K 30K 00K 00K 3 3K 50K 50K 00K 50K 0 3 50K 50K 30K 50K 50 3 50K 50K 50K 50K 0 3 50 50K 50K 50K < 3 50 50 0K 50K < 3 5 33 0K 00K 50K 3 5 300 50K 0K 50K 5 5 3o 0K 50K 50K 50X 3 33 50K 0K 50K 50X 3 3o 50K 50K 50K 5K o K>

R R

LOLO OO OO O L0 00 00 00 0000020000000 000000300030 00 0000050000500 5050 v e

<
9



00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000?

noa YW 1INK

VN NTIYD

On this day we have a special meal called

We drink __ cups of wine.

0K IO 0K 3 303 0K 0K 50K XX X 30 50K 30K XK 50K 3 3 50K 50K 50K 50K 3 X 50K 50K 30K 50K 50X 3 50K 50K 50K 50K 30X 3 50 50K 50K 00K < 3 50 50 0K 00K < 3 5 33 0K 50K 50K 5 5 33 0K 50K 50K 3K 3¢ 33 50 0K 50K X 3 33 50K 0K 50K 50X 3 3 50K 50K 50K 50X < <>
ORI IOK 5 303 50K 0K 50K 00K 3 3 50K 30K XK 50K 3 3K 50K 50K 00K 00K 3 3K 50K 50K 30K 50K 50X 3 50K 50K 50K 00K 0 3 50 50K 50K 0K 0 3 5 53 0K 00K 0 3 5 53 0K 50K 0K 3 5 30 50K 0K 50K 3 3 30 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 30K 50K 5K <

LOLO OO OO O L0 00 00 00 0000020000000 000000300030 00 0000050000500 5050 v e
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NN 12T

D)3 YN
The a7 said that
there is a fifth son,
but he’s so far from
VPVITIR that he
doesn’t even know
to come to the 770.
We need to go out,
and invite him to
our 770.

%Y RONY KD
Why is “Rnn? Rn” written
in Aramaic instead of

YTIpD 11v7?

1‘!17;
Why don't we recline

when we eat the 7771,

as we do with the wine

y
Many years ago, many JT'R and nyn?

didn't understand
WTIpn 117, Thisis an
invitation for people to the
779, therefore is was
written in the language
that was understood at
that time.

The 99791 reminds us of
the bitter slavery,
whereas leaning is a
sign of freedom.

0K IO 0K 3 303 0K 0K 50K XX X 30 50K 30K XK 50K 3 3 50K 50K 50K 50K 3 X 50K 50K 30K 50K 50X 3 50K 50K 50K 50K 30X 3 50 50K 50K 00K < 3 50 50 0K 00K < 3 5 33 0K 50K 50K 5 5 33 0K 50K 50K 3K 3¢ 33 50 0K 50K X 3 33 50K 0K 50K 50X 3 3 50K 50K 50K 50X < <>
ORI IOK 5 303 50K 0K 50K 00K 3 3 50K 30K XK 50K 3 3K 50K 50K 00K 00K 3 3K 50K 50K 30K 50K 50X 3 50K 50K 50K 00K 0 3 50 50K 50K 0K 0 3 5 53 0K 00K 0 3 5 53 0K 50K 0K 3 5 30 50K 0K 50K 3 3 30 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 30K 50K 5K <

LOLO OO OO O L0 00 00 00 0000020000000 000000300030 00 0000050000500 5050 v e












0K IO 0K 3 303 0K 0K 50K XX X 30 50K 30K XK 50K 3 3 50K 50K 50K 50K 3 X 50K 50K 30K 50K 50X 3 50K 50K 50K 50K 30X 3 50 50K 50K 00K < 3 50 50 0K 00K < 3 5 33 0K 50K 50K 5 5 33 0K 50K 50K 3K 3¢ 33 50 0K 50K X 3 33 50K 0K 50K 50X 3 3 50K 50K 50K 50X < <>
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70 ,nen ,NO9
TTTO: Niggun Zichu Zichei Tzedek

years.

7970 ,7¥N ,Noa these ill say two times (2x)

noa is the korban that the Yidden ate

n¥n is the dough that in the sun was baked.
7391 is so bitter, the bitter bitter herbs

To remind us of the slavery, the JT°R worked for

0272 ,P0 VTR

NN, T P

, 090,080 -RIXIN

TIW 102V, T3
n¥1,220, 73 ,N0Y

17N 1177 0TIV

N9y

DIXNN NRIRIN NRIRIN IR YR
DYV D)2 NYY R
WWTIAVTIVTOITIVT OTINT OT T

DIXN32 0IXNA

R’210 107N
TTTO: %N in

C’'mon everybody,
Let’s open the door wide,
Let’s tell 82230 198
To come with us inside.
X227 398 come drink from your
01D
Please tell us n*¥n is coming,
And together we’ll rejoice.

o Ir-—-—li_ =
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| I JQ ’__J I | |
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\ o

D9WIA RN MY
17120 YYD PIY PIY PIY

2N NNYR) D7IXNN
N7 OU71Y

LOLO OO OO O L0 00 00 00 0000020000000 000000300030 00 0000050000500 5050 v e

Seder Plate Song:
TTTO: Tzion, Tzion, Tzion

Y171 is the neck for the nog 127p,
n¥11 is the the egg for the nyIn 1217,
731 is so bitter, reminds us of hard
work,

noinis like the bricks that the 7R
used to build,

0973 is a potato, or onion, or celery
too

Now we know what to do!

Then we take three nixn,
R 17,100

Put the N7yp on the table for the 970

night.

ORI IOK 5 303 50K 0K 50K 00K 3 3 50K 30K XK 50K 3 3K 50K 50K 00K 00K 3 3K 50K 50K 30K 50K 50X 3 50K 50K 50K 00K 0 3 50 50K 50K 0K 0 3 5 53 0K 00K 0 3 5 53 0K 50K 0K 3 5 30 50K 0K 50K 3 3 30 50K 0K 50K 50X 3¢ 33 50K 0K 50K 00X 3 3o 50K 30K 50K 5K <



